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PART A: Voeabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet,

1-  Living ¢losc to a lake means we have an --—--——--—- supply of watcr.
1) inherent 2) abundant 3) inconsistent 4) celectie

2-  The advertisement for the weight loss pills is very -—--—--—- sinee studies have shown
they’re ineffective.
1) persistent 2) interminable 3) sensitive 4) mislcading

3-  The twins hated to he apart, so they hought hounses in close ——-cae———- to each other.
1) pertinence 2) proximity 3) acquaintance 4) scrutiny

4-  With few new jobs created, the economy has remained --------— for the past five years.
1) conservative 2) unteasible 3) stagnant 4) impassive

5-  Two days after the flood, fortunately the seawater finally began to -------—--- from our
house.
1) recede 2) secede 3) proceed 4) intercede

6- The business used only to make bicveles, but they’ve now ---—--—--- a range of other
cveling products.
1) diversified into  2) emerged from 3) reverted to 4) stemmed from

7-  The audience clearly loved the play—the -—---—---- was deafening. So it’s not surprising
that it got glowing reviews.
1) merit 2) rivalry 3) applause 4) benediction

8-  Experienced lditarod runners tried to --------—-- Gary Paulsen from competing in the

grueling Alaska race, but they were not successful. The writer and his team of sled dogs
nearly perished during the race.
1) elicit 2) derive 3) snatch 4) dissuade

9-  The Kalapalo Indians, who live on the savannas of central Brazil, have little ---—----—-- to
change their leisurely lifestyle. They work just several hours a week to provide food,
their only need.
1) disinterest 2) impetus 3) impact 4) rigidity

10- - by the rude behavior of the clerk, Ms. Caine reported him to the manager. She
believes that customers deserve courteous treatment, even when returning merchandise.

1) Withdrawn 2) Arisen 3) Restricted 4) Incensed
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

While clephants are oflen one ol a #00°s lop atiractions, a new report charges that their
level of care often falls short of star treatment. In a study (11) ---------- this week. the
UK’s Royal Society for the Protection of Cruelty to Animals (RSPCA) said elephants
in European zoos are often unhealthy, (12) ---------- considerable stress, and have a
much shorter life than their counterparts in the wild. 'T'heir condition is frequently even
worse than (13} ----—----—- in Asian timber camps. alleges the RSPCA, (14) ------—--- is
calling for wide-ranging changes in the way (15) -====---- . In the meantime, the group
says, European zoos should stop importing and breeding elephants.

11- 1) rcleased 2) was rcleased 3) 1l is released 4) that rcleascs
12- 1) 1o endure 2) they endure 3) by enduring 4) endure
13- 1) clephants 2) ¢lephants do 3) that of ¢clephants  4) for ¢lephants
14- 1)it 2) which 3) that 4) that it
15- 1) 7zoo elephants are treated 2) in 7oos are treated elephants

3) elephants are treated by in zoo 4) that elephants being treated in zo0s

PART C: Reading Comprehension

Directions: Read the following three passages and answer the guestions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

‘There is no universally accepted definition of photogrammetry. The definition given
below captures the most important notion of photogrammetry.

PPhotogrammetry 1s the science of obtaining reliable information about the
properties of surfaces and objects without physical contact with the objects, and of
measuring and interpreting this information.

Photogrammeltry is an cngincering discipline and as such heavily influenced by
developments in computer scicnee and clectronics. The cover increasing usc ol
computers has had and will continue to have a great impact on photogrammetry. The
disciplinc is, as manyv others, in a constant stale ol change. This becomes cspecially
cevident in the shill [rom analog 1o analytical and digital methods.

There has always been whatl we may call a technological gap between the latest
findings in rescarch on onc hand and the implementation of these resulls in
manutactured products: and secondly between the manufactured product and its
general use in an industrial process. In that sense, photogrammetric practice i3 an
industrial process. A number of organizations are involved in this process. Inventions
are likely to be associated with research organizations, such as universities, research
institutes and the research departments of industry. The development of a product
based on such research results is a second phase and is carried out, for example, by

forum.konkur.in



Famiio S528F OYFPY &) oylo paddl cwoiye

16-

17-

18-

19-

20-

companics manulacturing photogrammetric equipment. Between rescarch  and
development there are many similarities, the major difference being the [act that the
results of research activities are not known beforehand; development goals on the
other hand, are accurately defined in terms of product specifications, time and cost.

‘The third partner in the chain is the photogrammetrist: he daily uses the instruments
and methods and gives valuable feedback to researchers and developers. ‘There is a
relationship among the different organizations and the time elapsed from the moment
of an invention until it becomes operational and available to the photogrammetric
practice.

It’s stated in the passage that research and development ----------——-,

1) resemble cach other in many respects

2) arc delined based on the results achieved belorehand

3) are so integrated that there is no border between them

4) are different from cach other merely in one feature

A photogrammetrist --——-------— .

1) gives valuable [cedback Lo companies manulacturing photogrammetric equipments
2) upgrates the instruments and methods related to phtogrammetry

3) lessens the time elapsed from the moment of invention to that of application
4) provides researchers and developers with precious commentatries

The objectives of development are determined regarding ---—--------- "

1) cost 2) time

3) experimental results 4) product specification

Which sentence about photogrammetry is true?

1) It is, unlike the other disciplines, under a constant state of change.

2) It is the science of making inputs from photographs.

3) It is a sub-branch ol computer science and clectronics.

4) there are no exact definitions of photogrammetry.

Technological gap is -==-===ea-uq .

1) the moment operational and availabe to the industry

2) disparity between the rescarch organizations and the departments ol industry
3) the interval occurring among the processes of making an object

4) the time lag between the latest findings and the process of putting them into effect

PASSAGE 2:

The determination of the shape of the earth surface has been associated with the
iterative densification of points, starting with fundamental control networks. The
determination of the shape of independent national or even continental networks left
unsolved the problem of relating them to each other or to the earth as a whole: The use
of connecting observations was not possible over the oceans and had to wait for the
advent of space techniques. However an element of network location, that of
orientation, could be determined by astronomical observations. which have already
played a crucial role for determining "position” in navigation. Such obscrvations could
determine the direction of the local vertical with respect to the stellar background (an
inertial reference {rame with orientation bul no position) and f{inally to the carth itscll,
provided that the orientation of the earth could be independently determined as a
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21-

22-

23-

24-

(unction of time. [n addition the determined vertical directions provided an additional
source of information for the determination of the gravity [icld, the basic source being
gravity observations using gravimeters.

Thus the rotation of the earth has been another "unknown" function that entered
geodetic methodology. although, unlike the gravity potential function. it was not
included in the objectives of geodesy. Its determination was based mainly on theory
and was realized outside the geodetic discipline.

The enormous leap from ground-based to space techniques and the improvement of
observational accuracy resulted into protound changes in both geodetic practice and
theory. First ol all the traditional scparation in "horizontal” and "vertical” componcents
1s not sirictly nccessary any more and geodesy becomes (ruly three-dimensional.
Furthermore the carth cannot be considered a rigid body any more, cven il periodic
variations (¢.g. tides) ar¢ independently computed and removed, The shape of the carth
surface and the gravity licld of the carth must be now considered as functions, not only
of shape. but also of time. Thus geodesy becomes four-dimensional.

This passage is a part of --——-----——-- ;

1) the branches of geodesy 2) the solution of unsolved problems

3) data analysis methods in geodesy 4) the advent of astronomical techniques
(icodesy is the science of measuring and understanding these properties of the Earth
EXCEPT ——eemeeeee ;

) its geometric shape 2) its gravitational field

3) its orientation in space 4) its dimensional analysis

The rotation of earth, according to paragraph 2, ----------—-- A

1) was not considered a goal in geodesy

2) puts the geodetic discipline in itself

3) was defined according to theory and observation

4) similar 1o the gravity potential [unction leli unknown

The great improvement in geodetic practice and theory became possible by --—-----——--- :
1) using gravimelter

2) using spacc techniques

3) computing the periodic variations independently

4) the separation in herizontal and vertical components

Which variation of the pillars of geodesy has been emphasized in recent decades?

1) time 2) function 3) shape 4) periodic
PASSAGE 3:

Planc¢ surveying, which assumes that the Farth is at, 1s the most commonly practised
form of surveying. [t consists primarily of locating the positions of features on the
ground (or fairly close to it). This is achieved. in the first instance. by a combination of
angular and linear measurement. Linear measurement is therefore at the foundation of
surveving, which is at the foundation of the geomatics and geodetic science
disciplines. It is this process of measuring things on the ground which is fundamental
to later, [ancicr measurcment sysiems. All of photogrammetry comces 1o nothing unless
we can ascerlain its results with respect 1o what is rcally on the ground. GPS is
worthless il the base stations' locations are not known and reccivers can't be tesied
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206-

27-

28-

29-

against ground valucs. Mapping and GIS require the ability 1o check data in the
databasc against what's on the ground.

Il the arca that yvou are covering with your survey is less than aboutl 230 km2 (about
95 sq. miles). the assumption of a flat earth is valid for most standards of measurement
in 2-D. Larger areas cause the systematic errors caused by the flat Earth assumption to
become apparent in your measurements. Such errors are classical systematic errors, as
they are caused by using an inappropriate model of the measurement process. They
can be corrected by using the appropriate model.

The author’s main purpose in this passage is to ---—--—--—--,
1) compare the surveving types

2) clarily the wrue shape ol the carth

3) inform us of a process ol surveying

4) emphasize the most accuraic form of surveying

The word “ascertain” in linc 8 can bhe substituted by -----mm-nn--- .
1) determine 2) connect 3) compare 4) improve
Planc surveying is ------------- :

1) one form of surveying requiring a lot of practice

2) the science of determining the three dimensional positions of points

3) the process neglecting the curvature and spheroid shape of the Earth

4) the more precise element used for planning and execution of most forms of
conslruction

The plane surveying, aceording to the passage, is emploved for -,

1) only large arcas

2) small survey works

3) nearly all areas on the ground

4} lands needing the most standards of measurement

The following paragraph after this passage would most likely be about ---—--—-—--,

1} the measurement procedures 2) basic surveying rules

3) obstacles to measurement 4) the roles of GP’S and GIS in surveying
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